SplashLearn

Draw the Model

Read the problem statement and draw the correct model.

Rachel read 19 books this year. Rachel read 5 fewer books than Jade.
How many books did Jade read this year?

Jacob has 31 building blocks. Maria has 14 more building blocks than Jacob.
How many building blocks does Maria have?

Emma needs 27 beads for her craft work. Oliver needs 17 fewer beads than Emma. How
many beads does Oliver need?

Lucas has 56 game cards. Lucas has 20 more game cards than Louis.
How many game cards does Louis have?




